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(B) (P SR EME RS 558 0+ B EDBE M) P EP LHBEN RS 5850 L EEDHM) =RFAR FRTEit RHET REEr
(C) #EN=&LBHA100kN/ MU T DX B DFEI D H DERKIEKN/M) (G) HIESHIMUTORIGEDHIED HDOZAEKRN/M) L nE S
D) C)NLZEEMERT BN LEENZE(m) H) QP LZEEMERTIEEDLEEDSS(m)
HETFRLIYFHEOLEENADKEE SESHND T EZDHDKRES

XnES B &

(A) (B) (©) (D) (E) F) (G) (H) (A) (B) () (D) (E) F) (G) (H)
(1) 201.3 1.0 998 10 - - 15.3 29 138.4 10 97.7 1.0 - - 137 27
( 2) 1433 10 99.2 10 16.4 3.1 15.4 29 142.9 10 99.2 1.0 - - 146 29
( 3) 1433 10 998 10 - - 14.6 29 1429 10 94.6 1.0 - - 146 29
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